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Q1 – 


Remember to use the laws in the box so you are adding/subtracting NOT multiplying or dividing. 


If you have any negative indices at the end change it into a fraction which turns the index positive.





Q2 –


Same as Q1 but using a different law. 


Remember that you must do the same thing to everything in the brackets, but if a number is outside the brackets, multiply by it at the end.


Remember that when multiplying fractions you times the numerators to get the top and the denominators to get the bottom of your new fraction.





Q3 – 


Same as Q1 using a different rule.


Remember that √ has an invisible 2 because it is the square root.





Q4 –


Change to a fraction, if needed,  first then use the box to express it as a root.





Q5 – 


Step 1 – If negative index, make it a fraction so a positive index.


Remember if dividing a fraction by a fraction you can swap the top & bottom.





e.g.       (1/3)-1


         = 1/(1/3)   


         = 1/1 ÷ 1/3


        = 1/1 x 3/1


        = 3/1


           = 3


So  1/(1/3)   = 3


If unsure with this step leave a gap and come ask.





Step 2 – Insert roots where needed.





Step 3 – Solve the roots.


Remember that if its 2^(3/2) you must cube 2 before taking the square root.


If unsure of possible answers, like 729, try cubing different numbers and you will find the right one.





Step 4 – Square, cube, etc anything remaining.





Q6 –


Follow instruction i), ii) and iii).


Remember that


1/a multiplied by  (a + 1) = (a + 1)/a.


Remember to only expand brackets at the end if you still have any.








You must answer every question, even if you can only copy out the question and leave a gap. Otherwise you will be in at lunchtime finishing it.





